UNIT 6: IRRATIONAL MATH -.....
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~~ Unit 6, Page 34 ~~
Pythagorean Triplets or Triples .
: i f a right triangle.
A Pythagorean Triple is a set of three counting numbers that are the lengths of the sides 0 ghttiane,
2 12 b
Notice that the three triangles above are similar. Similar polygons have congruent angles and the side
lengths are in equal ratio. You can multiply the three lengths by a common factor and the other lengths.
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The triangles above are all members of the {3, 4, 5) family, which you see the most often. 225= 8 +(~+'-f
225=225
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When we see a new Pythagorean Triplet, we will write them with their family below: b
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~~ Unit 6:?’.age'35 ~~ Objectives: | can apply the Pythagorean Theorem
to find the missing length of a right triangle.
ssing the Pythagorean Theorem to Find the Missing Length
" ) leg leg
| race over the legs of the right triangle and circle the measurement of the hypolenuse / :
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Notes: The

~/ is ALWAYS the longest side of the right triangle. What do you think you will
need to do :f you afe missing the leg length instead of the h

ypatenuse? In the following problems, you will
have to decide if you are finding the lengthofthe hypotenus leg length.

| If you are calculating the length of the hypotenuse: you need to &‘d d 5 ‘“JV\ 7LC Lﬂa \J :
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If you are calculating the length of a leg, you need to Su i\,Jn/C(‘,T' y H.on ﬁ: leg
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u:tate all lengths as square roots, then approximate to the nearest tenth. If a diagram is not provuded you must
draw one. L : CZ—()\Z+b2' ‘Vb
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W&’ HEL.? ¥ 5 UT;it 6, Page 36/ awall. If \ i
. —— A 25-foot ladder is leaned agE wa.ll
@ Yuks just bought  big- the base of the ladder is 7 ft from the g «
scresn TV sel. The e how high Up ihe wall will the ladder reach?
s S Y (oraw cagramfere]
screan is 32 in. wide, S
how high is it? 30"
As Greg swam () The mast of a salling ship is 20 ft tall. A
@ acros:g an B0-meter “ I I rope is stretched 26 ft from the top of the
river, the current = mast to a cleat on the deck of the ship.
camed him 30 m 30m How far is the cleat from the base of the
downstream. How far g 1 mast? [Draw diagram here'ﬂ
did he swim?
L o
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@ Each side of an 12 12 @ Two jets left an airport at the same time.
equilateral triangle N One traveled east at 300 miles per hour.
measures 12 cm. The other traveled south at 400 miles per
Find the height, h, w E hour. How far apart were the jets at the
{ the triangle. nd of .
o A2 b—:— — czbﬁ 6 S NS af'{ h?ur? [Draw diagram here.]
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Estimate the follow s to the nearest tenth. You must show the two perfect sq:ﬁ.es that the

number is between. NO CALCULATOR!!!
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